Ooyuarwimee foManiHee 3a1aHue mo teMe «[IpoTHBOMOJIOKHBIE YHCIA»

3AJJAHHME 1. | Haiigure 4ncio, NpOTUBOIIOI0KHOE YUCITY:
ne6__ 2)-7 3)0 4) -23 5) 82
3AJJAHME 2. | 3anonHnTe TaOIHIy:
| 5 | ,4
Hucno 10 J -8 0,4 3.5 0 -7.8 2= | -3—= | 900
7 9
MpoTuBOnoONoOMKHOE |
4MCNOo I
3AJIAHHME 3. | 3anummute 6€3 CKOOOK:
a) —(+1); B) —(=7); A) —(+15);
6) —(+9); r) —(-10); e) —(=20).
3AJIAHHUE 4. | 3anummure 4nciio, paBHOE JaHHOMY:

a) = (= (+1)); B) — (— (- (+8))); n) — (- (- (... (+3))...);

10 3HAKOB o« =—»




